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Note : Long Answer Question. Answer should be given in 800 to 1000 words. Answer all
question. All questions are compulsory .
Section - A 3ferpad 3+ - 18
s — I’ Maximum Marks: 18

1. W07 B AT B ARV B WAL BINTY | 6417 B g & A= IBRI &1 W Seed 6

HITTT |
Explain the concept of Elasticity of Demand. Also mention the types of Elasticity of Demand.

31erar
guf g # JieqdbTelid Td SredTel BH Ud ST el &l e BHIH |
Explain short-run and long-run equilibrium of Firm and industry under Perfect Competition.

31eqar
FrfaE BT &7 g9 B fAsr ¥ BRI gle] W gaeR Ud gerdl 9l e ¥ g
AFd HedTvT Ud A9 a1 Iafax IRV fAdN &) Rl 96 ugd 137 & |
39 HUF BT fAgeyor FHifvT |
The scope of economics has developed from science of wealth creation to human behaviour
and scarcity analysis to human welfare and human development and concern for sustainable

development. Discuss.

2. IS B IRIdT AT RIS BT AT ® ARAT BT | 6

Describe critically the liquidity preference theory of interest. .
3T

e A RIGT &1 STTeleMcdd ARl BT |
Make an Analytical study of Revealed Preference Theory.

JrerdT
ST T THR TR 9O § I<]a U< ST 87 JCeIdl a9 [Jeel¥ol &1 Feraal |
SRR swma%smﬁwﬁaﬁﬂgﬁwmwﬁqﬁaﬁﬁgﬁwww(WW)EF&T
9T TS 8¢ AASSU | 6

How consumer attains equilibrium in the commodity market? Explain with the help of indifference
curve analysis. What is the impact on it of a change in‘income and the price? Explain.

3. SUYET NG &1 FEIAT ¥ TP YHNTBNI D ASIBTel Ud STEdbTei Aol Bl AR
BIFSTT | 6

Explain Short-run and Long run equilibrium of a monopolist with the help of appropriate diagrams

YT
ReTel & oIS AN DIV & AT S ARAT DI |

Describe critically the Ricardian Comparative cost theory.




3ferdr

gwﬁﬁﬁﬁw\wwﬁwﬁrmﬁwwﬁﬁaaﬁm|ww
ISR @ ®F ol dd &7 AT |

Differentiate between perfect competition market and monopolistic competition market. What

are the basic elements of perfect competition market? Explain.

Section - B yrs — q
AfHad e - 12
Maximum Marks: 12
dic : 9Y S 979 | 9P S U9 Swik 200 9 300 Areal # fad | @+l U st 2
Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory
4. JTHMNE o T 2
Quasi rent
SIEH
e T yrafiie srefeme
Static and Dynamic Economics
SIEH
fte Ud wAfe srfeme | 2
Micro and Macro economics.

5. UG Iad 2
Consumer surphus

SIE
arefere ® AR
Equilibrium in Economics
SIE

T BT Fhig YdTs | 2

Circular flow of Money.

6. T Y Td YR AT 2

Balance of payment and Balance of Trade

YT
?EEZIGTI'J

National Income

3T
TRIdT YA B AT IIRD | 2

Three Motives of Liquidity preference

7. a1 & WIfdd g yriiie Bl 2

Static and Dynamic functions of mony
3T

TUR AT
Balance of Trade

SREI
M DT SIRgH Ud SfI¥aadr 984 &l g | 2
Risk and uncertainty theory of profit.

8. UBTOGRIHS A 2
Monofoloistic Competition
3RIdT
I PN & eTor
Characteristics of underdevelopment




3AdT
I Y U YR 9 |

Balance of payments and Balance of Trade.

9. R&TEl BT oI THd AN gfedIv

Ricardian Comparative Cost theory.
SRAAT

Imperfect Competition

3R]
Sa &1 37eu [ABrT b1 ol Thra ufehar Rigr |

Myrdal's theory of cumulative causation of under-development.




e (Assignment)
Uhd fasg 9 H1de ddAT YHO—9H
Undergraduate Arts Certificate in Single Subject

fawra — aref’m= faerg @is - Nvava s .
Subject : Economics Subject Code : CSSEC
wrd afiieie : Tad=ar gt @ 919 HId Bis : L.Ua.va.s .
—02

HRd &1 3fefe e Course Code : CSSEC-02

Course Title : Indian Economic Development
Since Independence

Jfferedd b - 30
Maximum Marks: 30

die - 4" S 979 | 9 @ 31U Swi} 800 | 1000 WTssl # ford | @l u'H Iifard @
Note : Long Answer Question. Answer should be given in 800 to 1000 words.
Answer all question. All questions are compulsory

Section - A AFfSrpdd 3w - 18
g — ‘I’ Maximum Marks: 18

1. WAFd & A IR AfeaRe o deayul Q" wansit @1 fadeer Sifeg | 6

Discuss the important fcatures of Indian Economy after independence.
3AdT

ARG SR & SRIRYT AeTvl Bl faa==1 iy |
Discuss the salient features of Indian Economy.

3{rdr
IRA & onfdfes fawm # urgfas darl & qfier & fademr SRR | 7 darEl &t
ARETT T fadmr B far S Adar 87
Discuss the role of natural resources in economic development of India. How can these
resources be conserved and developed?

2. ASTHERT AT a7 8?2 U e Tl 31 gavet | o A & Ig< af &I T
BIFSTY | 6

What is the Fiscal Policy? Discuss the objectives of Fiscal policy ina developing
economy.

SIRCI
A SEfiTe T @ g fORvdTell Ud Sgevdl B AT B |
Discuss the mainfeatures and objectives of the New Industrial Policy.

37TdT
e BT ¥ T aead 27 ARG # SiENfie ST & BRI UG URUTAT & guid
BT |

What is meant by industrial sickness? Explain the causes and consequences at industrial
sickness in India.

3. A GER ¥ 1 AU 8?39 7 H R AR R R N 6y T 57 6
What is meant by lard Reforms? What attempt have been made by Government of India
in this Connection?

3TRAT



ArdSife T B e B AT b1 guie I |

Explain the methods of redemption of public debt.
3{qdT
Analyse the reasons for low national and per capita income in India. Give suggestions for its

improvement.

ARA § I iR ufoaafad oma &9 89 @ &Rl &1 fQ7ewor oIy | gaH
JuR B GIa <o |

Section - B 3ferdpay 3P : 12
g — 9 Maximum Marks: 12

dic : 9Y S 979 | 9P S U9 Swik 200 9 300 Areal # fad | @+l U st 2

Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. MRAY A" R #1 Mg ygfeaal o fad=er Hi | 2
Discuss the recent trends of foreign Trde in India.
Frerdn

I GUR ¥ 39 R T 87
Whast do you understand by Land Reforms?

3{erdT
Discuss the main causes of backwardness of Indian agriculture.

IRA Y & fUBSUT & &I RO B Jaw S |

5. MRAIY J1feaeerr # grdvif<e SUpdl b Agcd bl fad=ar BT | 2

Discuss the importance of Public Enterprises in Indian Economy.

3{rdr
Examine the role of industrialization in economic development in India.

IRA @ MM® e # M aR & et &1 qedied B |
aperar
3iTENRTe WU & U BROT 52 ARA @ FaH H IRl DI |

What are the major causes of industrial sickness?

6. WA H Y SN &I TW TARN T 57 2
What are the main problems of small scale Industries in India.
3IdT

IR # /91 Ff¥ ITHar & IR =& HROT a5y |
Discuss the main four causes of tow productivity of agriculture in India.

RIDGH|
Write the composition at India’s exports and imports.

gRd & FFrafg—smarg & dv=qr ford |

7. e #1fe WR wfera fewoh fafay | 2
Write short note on Industrial labour.
31eqar
qAEN Biv 1D
Landless Agricultral labourers.
31T
Throw light on the present position of public enterprises in India.



YRd ¥ grdoi<d SUBH BT aaq Rl W U’ T SIfeTd |

8. MIRA H eI TR & wfera fewof forfReay |
Write a short rote on Urbanization of India
37T
Write the main problems of small-scale industries in India?
IRA H Y NN & I FHRIR o |
3ferdr
Rord d & I Bl &1 I HIY |
What are the functions of Reserve Bank of India?

o. WIS &5 | MY o7 |HSI 87
What do you understand by public sector?

37141
Discuss the main sources of industrial finance in India.

IRA ¥ SiEfie fac & = 9El & AR sifor |

3rerar
TR | BB BT AR BT Ffed § o8y |

Explain briefly the problems of urbanisation.
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Note : Long Answer Question. Answer should be given in 800 to 1000 words.
Answer all question. All questions are compulsory

Section - A 3fSrpdy 3i®d : 18
g — ‘I’ Maximum Marks: 18
1. BI—T0TdT FEaw ol = BTy | 6

Calculate Karl Person coefficient of correlation
X:40,46,50,55,60,60,75,80
Y:36,40,40,50,65,70,80,90 .
31erar
fr=ferRad el o e od S1d HIfY |
X 12327282930 3133353639
Y : 1822 23 24 25 25 28 29 30 32
Calculate coefficient of correlation from the following data.
X :- 2327282930 31 33 35 36 39
Y :- 18 22 23 24 25 25 28 29 30 32
31erar
sfeme o AiR®IT BT STIRT /A8 R 27
What are the uses/Importance of statistics in Economics? Discuss the limitations of

statistics.
2. WY BT INT Td IO T ITEX0T Afed AU | 6
Explain the addition and Multiplication Theorem of probability with suitable example.

31erar
BT Ao B HESH Bl AR BIFTY |
Discuss the components of timeseries.

31eqar
gIfe IR fEd® adel # 3R W $Ifoiy UIfie Ua g sffeel & deld @l
faferdt garsy |
Differentiate between primary and secondary data. Explain the methods of primary and
secondary data collection.



3. GAHId AT B A= aROT qarsq |

Explain the various steps of constructing index number.

31TdT
FfaRed wHel 9 R &1 eyl gaaie d S |
TR a9 i
T, GG AT GG LEL
4 40 3 60 2
C 50 4 60 4
1 70 2 90 2
n 20 3 10 5
Find Fisher’s Ideal Index from the following data :

TR a9 a
qE], kiG] ATT BIHd AT
A 40 3 60 2
B 50 4 60 4
C 70 2 90 2
D 20 3 10 5

ST

Tg IR ufesl o R 2 W Iy | ufdeet g ik IR ufdest o # a1 oFar 77
What are the main non sampling errors? Explain. What is differentce between sampling error
and non-sampling error.

Section - B AfSrpdd 3w : 12
g — 9’ Maximum Marks: 12

dic : 9Y S 979 | 9P © U Sk 200 9 300 Wreal # fad | @+l 7 aifand 2

Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. fgug §c9 &1 W= HIT| 2

Explain the Binomial Distribution.
SICI

Distinguish between classification and tabulation of data.
HHBT B TIUTDBROT UG ARONGT H TR BIFTQ |

3HAAT

5. WiRgag Ffedt T 8° 2
What are statistical errors?
3T

Define statistical data. Point out their chief characteristics giving suitable examples.

AR wHe B gRTST Y | SUGSRT SETERVT d U SAD! G faRoamell &1 Seord
BITSTT |

YT

= ®I W P |
108x2v*4

36XY
xX2 - 6X

b —_—
®) o _ex



6. O UAT' T AHSTSV | 2

Explain Mathematical expectations.
AT
Distinguish between Diagram and Graph.

%aaaﬂﬁ—gﬁmzﬁ‘eﬂﬂwaﬁml
ﬁﬁrﬁvﬂ%ﬂaﬂw@faﬁml

Factorize the following.
9X?+ 13X + 9 - 16y°

7. TR URGHAT BT 3l FHSISY | 2
Explain the meaning of null hypothesis.
3dT

T Td 3RUT Bold Dl IGExY Aftd AHSS |
Explain Explicit and Implicit functions with examples.
COEI
Simplify the following.
2X - [3X + (4Y - 2X) - 7Y]

s. E"F @ B? 2

What is sampling.

31qar
UIRYSHAT BT TRHTNT HIFTY |
Define probability.

SR
fr=rfeiaa favgell @ #eg g =1d HIfTY |
Find distance between two poins of the following.
@P@45, Q@B8), (b PO 8 Q4 6

o. FHDI & Il ug” M & weed Dl A | 2
Explain the importance of Graphic Presentation of data.

Define correlation and distinguish between positive and negative carrelation.

TEar= bl GRYINT HIFTT 2T Y=TcHD Ud FOMcHD Tadva H ¥ DI |
areraT

n &I A S BIe I 2

Find value of n if.
"p, 132
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Section - A 3ferdpay 3P : 18
g — ‘I’ Maximum Marks: 18
A ez d gRads @1 f[adear S | 6

Discuss the changes in the land system

TR R AT TR

“Our land reform rogramme have not been, S ccessfuIDbecause it could no%
1C ?1

Hvdart non cono mto €cono ones 1scuss this statemen
Scuss t e approprla eness cooperatlve armlng as land reform.

“Pls < SR TNIg ‘<8c1| g, FIfh I8 TG B " FHIET DY |

"A Country is poor becuase it is poor", comment.

2. 73 i@ IR (1991) @ 1€ HY IAGA BT GG @ oI YA WA drell A= Taeirpl
P IRAT BT | 6

Explain different techniques for increasing agricultural production in India adopted after New
Economic policy (1991) .

e arerar
%?{i@l%#q?w%dﬁ @ﬂddlg%‘aﬁlwﬁ el @ G @

in the main squrces of .irrigation in India. What. steps have been taken b
tﬁe Cg vernment to Improve irrigaiton fac;lllltlesm India. P y

AT

fafeer e dId H ARAI BfY B A oIl IS & BRI &I FHiEr
G foTT |

Evaluate the causes of backwardness and stagation of Indian agriculture during the British rule.

3. IRA H FHY [JUor & TR BT 98 | Reafd § GaR & fo1g di—ai



d PHeH I3V T 87 6
Explain the problems of Agricultural Marketing in India. What steps have been taken to improve
the situation?

TR § Wﬁ%ﬁ@eﬁmﬂa@waﬂﬁaﬁsﬂmﬁaﬁ P |

ive the.main features and defects, of agricultural marketing in India., \What Is
t%e contribution o &ooperatlve marketing socleties In removing these defecf1 4

3ferar
IR H FY T & gdq™ dF BT geor HIfy |
Explain and present mechanism of Agricultural Finance in India.
Section - B 3fSrdda 3d : 12
g — q Maximum Marks: 12

dic : 9Y S 979 | 9P S U Sk 200 9 300 sl d fad | w3l ' aifard 2
Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. IRA | ITHIOT RGN 4§ gfg & BROIT BT G318 | 2

Explain the causes of increase in rural unemployment in India

3| 1943?%11%21%41??{1# G- el 3+cr>|o1| Bl 7T favmae off QiR
;ﬁg%ﬁﬁ HY R SHBT T Y919 TSl !

State the characteristics of major famies in India between 1760 and 1943 and
Elucidate their |mpact on India Agriculture ?

Wﬁﬁ[ﬁgﬂﬂzﬁﬁﬁmamﬁaﬁﬁﬁwaﬁml

Discuss specific characteristics of Land Reforms in India

5. ARAIT HY R R it & ywrd &I fada=m Iy | 2

Explain the impact of Green Revolution on Indian Agriculture.

Wﬁwﬁwnﬁ%ﬁﬁﬁqvwa%ﬁwlﬁwmﬁa%ﬂﬁmaﬁml
or

Evaluate Government efforts to remove rural poverty in India?

Wﬁ?@fﬁfaﬁﬁqw g AT BT U BT | 2

Discuss New strategy of Agriculture in India.

6. WRA H UM TN §R BRI & SUT DI FHSY | 2

Explain the measures (remedies) to remove the rural poverty of India.

arerar
YRT H Grdoifaed fIaxor Yomell UR srala-icdd - forfRgu |

Critically evlauate the Public Distribution System in India ?
31rdr

IRA H FHY fAuove &1 gaaq Rl @ rer I |

Discuss the Present Position of Agricultural Marketing in India.

7. Y U9 IENT § uRERS FRar a9smed | 2

Explain the interdependency between Agriculture and Industry.

3RAdT
IRA H BN UG Bl bl & Q9T BT 9 Y| 2



Explain the defects of Agricultural Products Marketing in India ?

3AdT
AISTT—dhTd H BN A’ R dfera fewo fafey | 2

Write a short note on 'Agricultural development' under the Plan period.

8. DY BT JAEINTIHROT 2
Industrialisation of Agriculture.
SRAAT

I @ Iha<l A T AU & ? IR ¥ 9 FUR B I R fdar war ?

What do you mean by consolidation of land holdings ? Why this reform was introduced in India ?

AT
IS HfY ud grior e g

National Bank for Agricultural and Rural Development

0. XgTEr gRem fafraw 2
Food Security Act.
3AdT
“RA H A BRA wIffd &) a’ ST & 9 HUH & W H o fuR wad $ifig | 2
“India needs a second green revolution” Express your views with reference to this statement.
3AdT
g guf @& SR srfeaver # & @ Weddd uRadl @ ot &1 fageyor #ifeg |

Analyse the Patterns of structural changes which have taken place in the Indian economy
during recent years.
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Section - A Jferwan e - 18
s — I’ Maximum Marks: 18

1. SENfIE HIfva w1 8?2 fdcd § I=Idl ¥al & Saklg Ud ddi 941 & Jdig
H B arel M foharel @ gfg B URfd uR HeY H YH'T STl |
What is Industrial Revolution? Briefly highlight the nature of growth of industrial
activity in Britain in the late nineteenth and early twentieth century.

arorT
STAIUS W 1920 Pl ABMH=<] & HRON BT fATATT HITU | TRAR g§RT THRT D
e 3 YA TR UM BT quid BHIfY |

Analyse the causes of the Great Depression in England during the 1929’s
Discuss the remedies adopted by the Government to solve the crisis:6

3HAAT

MeNfires wifq o1 gui B | 6

Describe industrial revolution.

2. MY fAmrd & oMy @y e 27 e fas™t &1 Aroe & A= a¥iei
BT TArAATHSD [ddaT  BISIY |

What do you understand by Economic Development? Discuss critically different
methods used to measure economic development.

3TTdT
%ﬂgﬁaﬁqﬁaﬁﬁgﬁgﬁ@%%mﬁﬁ FIT A %*l{{mcﬁqgawﬁa%

What do you understand by scissor’s crisis in Solviet Union ? Discuss the steps taken by the
Soviet Government to solve the problem.

AT
faes @1 fage o 997 &1 9l o | 6

Discuss the investment of Britain abroad.




3.8 G @ UA BF @ 916 O WRPR gRT Y& B T3 4 3l i @

T fA"TaRll T 9uie HIfoTe | Aifd & AL 8F ¥ S SRRl & an H
HET H gy |
Discuss salient features of the new economic policy initiated by the soviet Government
after the Civil war was over. Give a brief account of problems that. arose when the
policy was implemented.

YT
Examine the social, economic and political changes in Meiji Restoration. What

Were the effects of the changes ?

%ﬁwﬁwﬂzﬁsﬁ\hﬁeﬁqmﬁzﬁvﬁaﬁwqﬁwaﬁml
Wlm—cﬁ YRAT BT |

AT
SITUTE ) 3rfcgaRen # SeRT &l T IR 8T © 2

What is the contribution of industry in Japan.
Section - B 3fferead e - 12
wus—'q’ Maximum Marks: 12

dic ;. g Sw¥g 99 | ¥V $ U Swik 200 ¥ 300 Wrsat # fod | wft ' aiftrard @
Note : Short Answer Question. Answer should be given in 200 to 300 words.

All questions are compulsory
4. 9o 379 gg o1 MU SRigawer o e qRE oM UgarT or? 2

How did the first world war benefit the Japanese economy?
3T

™

Growth Rate
37erdT

JTFCaY pifd
October revolution

5. IANTIT GRT U MAF [TH o TH—3IH 3aRAT BT SMMAAAHD URIAUT HINTY | 2
Critically examine the . ‘take off stage of economic development given by
Rostow.

YT
A faferm 2

Unequal Exchange

3T
gifead wa § =AY anfefer e

New economic policy of Soviet Russia

6. 3MMI® BT Td onfdfes gig # R T BHIIT | 2
Distinguish between Economic development and economic growth .
31T
i fraa
Capital Export
31T
Sufvaeiia eawern 2

Colonial System



7. RIS I AT B Al 16 SRR §RT ARl B Bl [HDT DI AR
BIFTY | 2
Explain the balancing role played by Colonial transfer in the international
payment system.
SRAAT
$TH dIge ARl
Labour Intensive Economy

3T
PRI IR

Triangular Trade

8. g9 &N Uawd 31 & Rfifid gfdd & fagra @l sialrenss 9 forRay | 2

Write critical appraisal of Levis Theory of Unlimited supplies of labonr.

AT
e fapr & @RoT

State of Economic Development

3AdT
EICIE ARSI

Agricultural Revolution in Japan

o. feuofy forRax: 2

Write short notes on:
(b) AT

Socialism
(@) wgfera gf

Balanced growth

SRAdT

31ef fasmfya sreferaer |

Underdeveloped Economy

31rdT
AT w9 BT Ygasia HT JoTn
USSR 5 years plan






